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|Ĥ|φ(1)
j1
. . . φ

(f)
jf

> ·Aj1...jf
(t) M�!G�N

i�φ̇
(k)
n (xk, t) = (1 − P̂k)

∑
m

ρ(k)−1

nm

∑
j

< ψ(k)
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+ < χr(t)|ĥvib(r) + VI(R, r)|χr(t) > M�!�KN

����� �
����� �%����� �
�������

$�� �����.	���	�� ���	��
���	��� ��3� 	����������� �������� ��� E�

�� R�GS ���


5�����.	���	�� 
� ������� 
5��
�� ��� 
�� �����	����� ����
�� 2����.	���	�� E���

���	��� ,���
� M��� 
5�� ������� ,E2N! ,5	
�� ��	��	��
� ��� ��5�� ������ 
5��
��

	�	�	�
����� �����	�� ������� �����	�� �5	
 ��� ������� 
��� �� ������	�
 ���
���	���!

�	 
��� 
� 
� ��������	�� �������

� 
� ������ 
5��
�� �� �5���
� ��� ���� M	!� �����


���
	��N �
��� ��� ����� �����.	���	�� ����	��� 8 
�&�
����� 
� ������	�
 �� ���	� 
�

���
�� �� �����
 ��
�� ������ 
� ������ 
� ������ 
5��
�� 8 ������ 	������! 1�T��

8 �� 
�&�
��������' 
� ������ 
5��
�� ����� �����	�� 
����� 
� ��������	��' �� 
��

�����3���� 
� ����� �����	���� 9 
� ������' 
� 
������ �� 
� ����� ���� 
�� 6����	���



���� �������� ���	!�����	���� �K


� �����!

$� ������ 
5��
�� �����	�� 8 �� 	������ � ��� 
�@�	 ��� 
5�����	��

Ψ(x, t) = exp{ i
�
[αt(x− xt)2 + pt(x− xt) + γt]} M�!�IN

�A 
�� �����3���� αt' γt ���� 
�� ������� ����
�.�� �� 
�� �����3���� xt' pt ����

���
�!

,� 
�&�
�������� 
� ������	�
 �� �����
 ��
�� ������ 
� ������ 
� ������ 
5��
��

�5���	� 9

V (x, t) ≈ V0 + Vx(x− xt) +
1

2
Vxx(x− xt)

2 M�!�FN

�&�� V0 = V (xt), Vx = ∂V
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ṗt = −Vx, M�!��N

α̇t = −(2/m)α2
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γ̇t = i�αt/m+ ptẋt − E M�!�GN
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∑
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j |ĤI,I |χI

k >, MG!�IN

�� 8 
� &��	��	�� �������

� 
� 
� ����	�� 
� �����&������
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(
−i�∂Ψ(R, t)∗

∂t
− ĤΨ(R, t)∗

)(
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∂Ψ(R, t)

∂t
− ĤΨ(R, t)

)
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= [Ĥ, ρ̂(t)] MG!�FN



"�"� �������� ���� ��� �����
��� % ����	���� ����� ��

���� 
� ��� 
� ����� ����3�� 8 
��. �����' 
5��������� 
���	�� ��� ��� ����	��

ρ̂(t) =

(
ρ̂11(t) ρ̂12(t)

ρ̂21(t) ρ̂22(t)

)
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dρ̂ij
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Ĥikρ̂kj − ρ̂ikĤkj MG!D�N
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5������ 
�� ������ (q, p) ��

{A,B} =
∂A

∂q

∂B

∂p
− ∂B

∂q

∂A

∂p
MG!DGN
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� ρ̂

∂ρ11

∂t
= L̂11ρ11 + {V,Reρ12} − 2V

�
Imρ12 MG!D�N

∂ρ22

∂t
= L̂22ρ22 + {V,Reρ12} +

2V

�
Imρ12 MG!D�N

∂ρ12

∂t
= (L̂0 − iω)ρ12 +

1

2
{V, ρ11 + ρ22} +

iV

�
(ρ11 − ρ22) MG!DDN

�&�� L̂f = {Hμ, f} (μ = 0, 11, 22) 
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q̇μ
k =

∂Hμ(qμ
k , p

μ
k)

∂p
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ṗμ
k = −∂Hμ(qμ

k , p
μ
k)

∂q
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∂S [x(t), t]

∂t
= − [∂xS(x(t), t)]2

2m
−Q [x(t), t] − V [x(t)] M�!�N

∂ρ [x(t), t]

∂t
= −∂x(ρ [x(t), t] v [x(t), t]) M�!�N

�&�� ∂x = ∂/∂x 
� 
��	&�� ����	�

� ��� ������� 8 . ��  
� ������	�
 �����	��� 
����

��� 
� 6����
� −(�2/2m)(∂2
xR/R)! "
 ��� 8 ����� ��� S �� ρ ��� ��� 
����
���� ����
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� �.�
	�	�� ��	� ����	 	��
	�	�� ��� 
5	������
	�	�� 
� x(t)!
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� 
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�@�	� 
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 ,������	�� ���� �&��� ����	� 
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' �5��� 
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��	&�� ����
� 9

d

dt
=

∂

∂t
+ v ∂x M�!GN

�A ! 
� &	����� 
� 
� ��	

� ��� ���	�	� ���
� 8 
� &	����� 
�� ���;����	��� ∂xS/m = p/m

M�A � ��� 
5	���
�	��N

*� 	����
�	���� ����� 
��	&�� ����
� 
��� 
�� �����	��� �� ���3� �����������' ��

�����	� 8

m
dv

dt
= −∂x(V +Q) = fc + fq M�!�N

dρ

dt
= −ρ∂xv M�!�N

,5�����	�� *�! M�!�N ��� 
� ��
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� %�L��� 8 
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�
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� ����3�� ���
	�! ����� �����	��

���� ���
����� �� �����	��

dS

dt
=

p2

2m
− (V +Q) = LQ M�!DN

LQ ��� 
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���	��� ��	 ������
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dx

dt
=
∂xS

m
M�!KN
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(� ����	
3�� ��� 6����	�� f(x) �������� ���� &��	��	�� ������� M�� �� �
��� 
���

�� ����
3�� 8 ��� 
	����	��N �� 
�@�	� ��. ��	��� xi (i ∈ 1, . . . , n) �����	����� 
�

��	

� 
�6�����! (� ������� 8 �&�
��� 
� ���	3�� ����	�� 
� &�
��� 
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5�� ��	�� xm 
� 
� ��	

�! ���� ��
� �� 
�@�	� ��� ���� 
� ��
��>��� pj(x − xm)


� 
	����	�� nb!

f̃(x) ≈
nb∑

j=1

ajpj(x− xm) M�!IN

Mf̃ ��� 
� 6����	�� ��������� 
� 6M.N �� �� ��	�� ���
������ ������ 
� xmN!

(� ���� ����
�� 	 ������ �5	������ ���

�� 6����	��� 
� ���� pj(x−xm) �������	�
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��
�� 
� &�
��� 
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� 
� ��	

�' �� ��	��� ��	 ���� 
�� �
�� ������� 
� xm!⎡
⎢⎢⎢⎢⎢⎢⎢⎣

f(x1)
!!!

f(xk)
!!!

f(xnp)

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

=

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

∑nb
j=1 ajpj(x1 − xm)

!!!∑nb
j=1 ajpj(xk − xm)

!!!∑nb
j=1 ajpj(xnp − xm)

⎤
⎥⎥⎥⎥⎥⎥⎥⎦
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� P · a = f �&�� P 
� ����	�� ��������� 
��

pj(xk − xm)' a 
� &������ ��������� 
�� ���?�	���� {aj} 8 
�����	��� �� f 
� &������

��������� 
�� &�
���� f(xk)! "
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�� np > nb '
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�	�� �� 
�
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5�����	�� ��� ���
�����	��! ���� �����	� ��� ���?�	���� aj �� 
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�

6����	�� 
� ���	�� χ2

χ2 =

np∑
k=1

[
f(xk) −

nb∑
j=1

ajPj(xk − xm)

]2

M�!��N
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� χ2 ��5�� ����
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� χ2

��� ������� ��. �����3���� Ma1, a2, . . . , anbN �5����
��� �� �	�	���' �5��� 8 
	��

np∑
k=1

[
f(xk) −

nb∑
j=1

ajPj(xk − xm)

]
Pl(xk − xm) = 0 M�!��N

���� 6���� ����	�	�
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� �5���	�

PtP · a = Pt · f M�!��N

�&�� Pt 
� ����	�� ���������� 
� P!
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PtWP · a = PtW · f M�!�GN
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�

�����3��� 
� 
������ β �� 
� ���	�	�� ������
� xc

ρ(t = 0) =

(
β2

π�

)1/2

exp

[
−β

2

�
(x− xc)

2

]

W ,� ����� MS0N
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� S0 = k x0 ��� 
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�� E = �
2k2/2m!
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� v0 = ∂xS0/m ��� 	
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�� ���;����	���' �5���
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� 6���� 
� 
� ����� 	�	�	�
� S0!
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dxi

dt
= vi

dρi

dt
= −ρi(∂xvi)

dSi

dt
=

p2
i

2m
− (V +Q)

m
dvi

dt
= fC + fQ
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∂t
χ1(x, t) =

(
− �

2

2m

∂2

∂x2
+ V11(x)

)
χ1(x, t) + V12(x)χ2(x, t) M�!�KN
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∂

∂t
χ2(x, t) =

(
− �

2

2m

∂2

∂x2
+ V22(x)

)
χ2(x, t) + V21(x)χ1(x, t) M�!�IN
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dρ1

dt
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dp1

dt
= −∇(V11 +Q11 +Q12) M�!��N

dp2
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= −∇(V22 +Q22 +Q21) M�!��N
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ψ(+)(x, e, t = 0) = G(x; β1, x10)e
ik1xφ1(e;x) +G(x; β2, x20)e

ik2xφ2(e;x)M�!�IN

= ψ
(+)
1 (0)φ1 + ψ

(+)
2 (0)φ2 M�!�FN

ψ(−)(x, e, t = 0) = G(x; β1, x10)e
ik1xφ1(e;x) +G(x; β2, x20)e

i(π+k2x)φ2(e;x)M�!G�N
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1 (0)φ1 + ψ
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� ����3�� �����<��� ��
�
	�� ��� ��� ��
���
� ����
��

��	����	���! ���� �� ��
3
�' 
�� G ������ H ��� ���	��� ����� �� ����
������ X

����� ��� ����� 
� 3mH �	��� ������ �� ������ 
� ����� ������ ��. ���	� ������!
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H(r, R) =
P 2

R

2μI−CH3

+
P 2

r

2μCH3

+

(
V1 V12

V21 V2

)
M�!��N
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a11 51.53 β11 1.64 kf 0.036225
a12 25.15 β12 1.3 ε0 0.034642
a21 0.71398 β13 1.4 r0 0.619702
a22 0.82978 β21 0.38597 R0 4.16799
a23 0.048149 β22 1.5 R02 4.5
b12 0.00226 β23 1.5 R012 4.2

β24 0.5
γ12 0.5
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� �����
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�&�� μI−CH3 �� μCH3 
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μI−CH3 =
mI(mC +mH3)

mI +mC +mH3

M�!�DN

��

μCH3 =
mCmH3

mC +mH3

. M�!�KN
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V1(r, R) = a11exp(−β11R) +
1

2
[kf + a12exp(−β12R)]

× {r − r0exp[−β13(R−R0)]}2
M�!�IN

V2(r, R) = a21exp(−β21R)/1 + exp[β22(R−R02)]

+ a22exp(−β23rx) + a23exp(−β24rx)

+
1

2
kfr

2 − ε0

M�!�FN

V12(R) = V21(R) = b12exp(−γ12(R−R012)) M�!��N

�&�� rx = R− 0.20218r 
� 
	������ C − I ���� ICH3!
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ψfond = exp[−1

2
(Q2

1 +Q2
2)] M�!��N

�A Q1 �� Q2 ���� 
�� ����
������ ���� 
	����	���! ,� �����6�����	�� ����� ���

����
������ ���� 
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� 0����	 ��� ���� ��	
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�@�	� ��� 
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(
Q1

Q2

)
=

(
7.830 −0.1762

0.6183 4.939

)(
R−R0

r − r0

)
M�!��N
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[∇2C + ∇C · ∇C] − V (x, t) MD!�N

,� ����	3�� �����	�� ��� ��� &���	�� 
� 
5�����	�� 
� ����	��	�� �� 
� 
��.	3��


5�����	�� 
� E��	
����0����	! ,� ����� 6�	���� 	����&��	� �
2' ��� 
5������ 
� ���

����	�
 �����	��� Q(x, t)! ,� ��
��	�� ����� 
� �����	�� C(x, t)' �� 
� 
���	�� 
� ����

���	
	��' ��� 
����� ��� ρ(x, t) = exp(2C(x, t))! 2&��� 
5�

�� �
�� 
�	�' �� ���.��	��


�� 
��. �����	��� �����
����� �&�� 
� �����	�� ��	&���� ���� 
�� 
��	&��� ����	�
�� 9

Sn = ∂nS(x, t)/∂xn Cn = ∂nC(x, t)/∂xn MD!GN

*� ��	
	���� ����� �����	��' 
�� �����	��� 
�&	������

∂tC(x, t) = − 1

2m
[S2 + 2C1S1] MD!�N

∂tS(x, t) = − 1

2m
(S1)

2 +
�

2

2m
[C2 + (C1)

2] − V MD!�N

����� ���� 
5�&��� 
	� �� 
���� 
� �� ����	���' 
5	
�� 
� �� ��� 
� ��������


	��������� 
�� 
��	&��� ����	�
�� �
��>� ��� 
� 
�� ��
��
��! ,�� 
��	&��� ����	�
��

���� �������� �� 
��	&��� 
�� �����	��� *�! MD!�N' �� *�! MD!�N ��
�� ������ ���;���

��	��! ���� ��
� ���� ��	
	���� 
� �����3�� 
� ,�	��	�: ��	 
�@�	� 
� 
��	&�� ��%��


� ���
�	� 
� 
��. 6����	��� H(x) = F (x)G(x) ����� 9

Hn =
n∑

j=0

b(n, j)Fn−jGj MD!DN

�&�� b(n, j) 
�� ���?�	���� �	���	��.' 
�@�	�� ��� b(n, j) = n!/[j!(n− j)!]! *� ��	
	�

���� �� �����3�� 
� ,�	��	�:' 
�� �����	��� ���� 
�� 
��	&��� ����	�
�� �� �����	&���



0��� ���������	�� �� �� ������� *� ���� ��������	���+ ��G

∂tCn = − 1

2m

[
S2+n + 2

n∑
j=0

b(n, j)S1+jC1+n−j

]
MD!KN

∂tSm = − 1

2m

[
m∑

j=0

b(m, j)S1+jS1+m−j

]

+
�

2

2m

[
Cm+2 +
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= − 1
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dC

dt
= − 1
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[S2 + 2C1S1] + ẋC1 MD!��N
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(S1)
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2 +2(C
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1 S
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sin(S(a)−S(b))+ ẋ(a)C
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dS(a)

dt
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1 S
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[C
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2+n+C
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1 C
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1 ]−V (a)(b)

(
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n

dt
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[
S

(a)
2+n + 2(S

(a)
1 C

(a)
1 )n

]
+ ẋ(a)C
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1+n

−
[
V (a)(b)

(
ρ(b)

ρ(a)

) 1
2

sin(S(a) − S(b))

]
n
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]
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[
C
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n + ẋ(a)S
(a)
1+n

−
[
V (a)(b)

(
ρ(b)

ρ(a)

) 1
2

cos(S(a) − S(b))

]
n

MD!�DN

dS
(b)
n

dt
= − 1

2m
(S

(b)
2 S

(b)
1 ) +

1

2m

[
C

(b)
2+n + (C

(b)
1 C

(b)
1 )

]
− V (b)

n + ẋ(b)S
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